FENBATCHIBENEMEIE(Z)YRME (B E) G Hik)
( B8] .60 5-45F %100 o)

—MNEKETECHZE | SHBEEHALE (16 %)

FEORGU/ARE | RS/ RS | RSB | RS | RE/A
1 72 5 88 9 55 13 76
2 85 6 95 10 76 14 104
3 45 7 100 11 36 15 101
4 16 8 98 12 87 16 99

LB B 2R AR - (6 71)

AR 50 AVATF 50 ~84( &.4% 50.84) 84 vk
N3

2. XANHEL A 1 ek ) B i ST R 2 0 IR ZERYLSTIR Y X I ST 25 £
7 (541)

3. WSHE 85 AN uk 85 LA AT, 50 AN LUR S Kk, 5 2 N s Sk B 75 7
A2 NARKET (5 9)

“RETENEEOERE(HF22 2,4 14 5)




erorn | (™ )

AF(A)

2. [A1%& [m)
(1) Bz ( PPN 6= EM=5 /(A ) I B
(2) B AR 1 )2 L B Rz B4 1 ) 2 2 ) No
(3) AR A B[] 2 R W o 7 A Y [ 2 3 ) No

= 8&/MAE6 ARHASETITIER: (20 4 )

i R [[BS YiPR
_//T{\ @ &

1 2 3 4 5 6 7 8 9 10
Y Vs \ly/ Y \l/ \l/
Sk | Sk e Sk | Sk | Sk
T | CQ S Cg Q Q T | S | TR
11 12 13 14 15 16 17 18 19 20

Ms KLY S
Q 7 F _’,T\: _’/T\‘ Cg CQ (4‘5 N Q
21 22 23 24 25 26 27 28 29 30
: 2 \ls \l/ \l/ f_’ \: (_’ \:
NS NN ~, Cd
'Y 'y Q T A Q CQ ) .

LG IR (R AR B R KO B N iy geit-&b . (6 41)

XA 4R i EP GES

R &

2N ERPATLUE L X MAFC )RR, ( )RR (4 53)
LRAAPHRAC IR, (29)
4. X AR RZ( )R, (247)
S.XAHARPIRILRZ (. )R, (241)
6. VRILRELR AT ATlEL? (4 1)
M RESIT R, @E TER LA EE(20 5)
IR /NIAE TR A 1:00 ~2:00 F13:00 ~4:00 it e — B A R

GES B 5 & & o F A/
A (4m) 35 15 16 26

GES B 5t & & o F 2K
3k (4) 20 15 35 40




LA URAG X PRI TR] N (9 AR g R 5 A (8 )

G L& & & &% DN
mA(4m)
R R VI A 2 ] 25 i)
2.( ) ERBERRZ, ( ) AR B R FH 25 ( )il (6 47)

3. g X —pgBe— A 247 (6 41)
B8 EEH,E-ES 9)

(OXO)

O O 1

L LRI A LA B—H8, H—3, (6 7))

L

B 7% i E5 = /%
A%

2. &R, (B 1.5 43,389 41)

(1) ( ) B2, A ( )

(2)( ) A EUR D, A ( )1

(3) fZFd/baY IR B AH 24 ( )

(=W o

N TRE2/MNAM—EHF4E EFr AR E, RFBEKREZEB(LS )

B35 B 18/ 4 B35 B 1)/ 5 iy BEE/ S | S| BT/ S
1 16 5 50 9 8 13 33
2 22 6 42 10 19 14 45
3 28 7 38 11 32 15 12
4 31 8 53 12 27 16 36

LW R R B2 R R . (6 43)
B 18] 20 VAT 20 ~40 4 40 5 vA Lk
A

FRAE T SRANEE BREE R 18
PAVANVINSE 35S R L o N S 2 NI o 37 W I DTN (LB A g S 2N O R AT
b7 (6 71)

3. L FI DT 20 SMBRAGA 20 N7 T 40 SMBrHA 20 A7 7 20 ~40
A Z N (3 5))




